Purt Ligt W1212-W1212BGFI Unit: inch
No| Picture Specification Qty ] 5 3
A Screw @3*1/2" | 32 INN d J
R Screw @¥3*5/8" 4 = B
C Screw @4*5/8" 2 | - l
D Screw @4*1 3/16"| 4 %’ Face /\(ﬁ/ Left >
E Corner Bracket 3 Door Frame Side Panel
F Hinges 2
G Bumper 2 4 > ¢
E:l ;O "'?/'?;, ’}O ’?/Qu
f/’,o/f \\ﬂ \{
Right ¢ Top Bottom
Side Panel Panel Panel
P
Back \\\“b

Panel




Assembly instructions

No| Picture| Specification |Qty[No| Picture| Specification |Qty|
A [ Screw @¥3*1/2" 32|E| & | CornerBracket | 8
B [y Screw #3*5/8" 4 [F| % Hinges 2
C §, Screw @4*5/8" 2 |G € | Bumper 2
D Screw @4*1 3/161 4

2

5
]

page 1 of 1
W12

W1
W1

12 -W1512 -W1812 -W2112
12BGFI - W1512BGFI

12BGFEFI - W2112BGFI




